YK500XG ez

@ Arm length 500mm M@ Maximum payload 10kg

@ Ordering method

- _ i Expansion _ Network _
: 31 2 3 S BB: 4 pcs
: : 4

INo entry: None
1 ICC: CC-Link
, P2: 64/40 IDN: DeviceNet
, P3: 88/56 IPB: Profibus
14, P4: 112/72

[YC: YC-Link M7
Note 1. Use N to N4 when NPN is selected on the I/O board, and P to P4 when PNP is selected.
Note 2. Available only for the master.

H Controller

M Specifications

X-axis Y-axis Z-axis R-axis Controller |Power capacity (VA) Operation method
Axis Arm length (mm) 200 300 200 ‘ 300 - Programming /
specifications |Rotation angle (°) +/-130 +/-145 - +/-360 /0 point trace /
Remote command /
AC servo motor output (W) 400 200 200 200 RCX240-R3 1700 Operation
Speed reducer Harmonic drive | Harmonic drive |  Ball screw | Harmonic drive using RS-232C
Peceleration ion |Motor to speed reducer Direct-coupled communication
mechanism | Trar P p
method Speed reducer to output Direct-coupled
Repeatability "*°'(XYZ mm) (R °) +/-0.01 +/-0.01 +/-0.004
Maximum speed (XYZ mi/sec) (R °/sec) 76 23 1.7 1700
Maximum payload (kg) 10
Standard cycle time with 2kg payload “**?(sec) 0.45
R-axis tolerable moment of inertia “**** (kgm?) 0.30
User wiring (sq x wires) 0.2x20
User tubing (Outer diameter) $6x 3
Travel limit 1.Soft limit 2.Mechanical stopper (X,Y,Z axis)
Robot cable length (m) Standard: 3.5 Option: 5,10
Weight (kg) (Excluding robot cable) 30

Note 1. This is the value at a constant ambient temperature. (X,Y axes)
Note 2. When reciprocating 300mm in horizontal and 25mm in vertical directions.
Note 3. There are limits to acceleration coefficient settings. See P.432.

( N\
YK500XG
VAl 300 200 194
e
N E— !
8 rf— I ¢ 1 = 342
N \L M J 7 o 7
User tubing 1 (¢6 Black) D-sub connector for  E— =
User tubing 2 ($6 Red user wiring 40/ 120 4-p11
User tubing 3 (6 Blue) (No.1to 20 usable) | 60 140 M10 bolt for installation, 4bolts used
200 (base size)
54 113
2300mm 77
Stroke r
675 .
Z200mm 652 Working envelope of
Stroke (Maximum 660 left-handed system
during arm rotation)
89
251 - . - 373
283 | | 81
253-] = B 259
242 = ] g3
Usertool AL A 1
g 137 642 |18 g EF| L7 —1158.5 Userlubing 2 (66 Red
2 S u 62007 § 01 Working envelope of
§ z Miﬂ Crace A i % right-handed system
2% thR_saL:(i: Zﬁgiﬂs o phase retation 40 X-axis mechanical stopper position: 132°
0L— 5N - 0 0 Y-axis mechanical stopper position: 147°
98 . D-sub connector for user wiring
% & L o M4 ground terminal (No.1 to 20 usable)
g = B § Hollow
S| Z-axis lower end o diameter
11/~ mechanical stopper position S cd14
s S &
e Cross section A-A
4-M4 x 0.7 through-hole for tool attachment
Four M4 x 10L binding screws are supplied.
Do not screw the screws in deeper than 10mm
from bottom surface of arm.
=] N .o
< - d
(= hd S
~ 4 i S YK500XG
10)] |32 \M16 x 2 Depth20 (Bottom of spline) & £33 Z200mm Stroke specification Z300mm Stroke specification
A

218  [roxu-s0z






